Potencias de 10 (B)

Calcule los siguientes productos y cocientes.

43 =+ 1000

151000

38 x 1000

47 +1000

14 +-1000

53 x 1000

75 x 1000

93 x 1000

151000

911000

64 x 1000

99 = 1000

100 x 1000

871000

13 1000

49 = 1000

471000

42 x 1000

88 x 1000

89 x 1000

MatesLibres.Com




Potencias de 10 (B) Respuestas

Calcule los siguientes productos y cocientes.

43 +-1000
0.043
151000

0.015
38 x 1000

38,000
47 1000
0.047
14+ 1000
0.014
53 x 1000
53,000
75 x 1000
75,000
93 x 1000
93,000
15+ 1000
0.015
91+ 1000
0.091

64 x 1000
64,000
99 = 1000
0.099
100 x 1000
100,000
87 = 1000
0.087
13+ 1000
0.013
49 =+ 1000
0.049
47 = 1000
0.047
42 x 1000
42,000
88 x 1000
88,000
89 x 1000
89,000
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